S
3
[—I.
&L&

= 29 His- AR R UIERFIZL

SR04

skl rER) |, 2
% i 5 G <u§§ VBA#NILE ~) T N s f 4|5 f6 |78 9] 0|0

)| g | 174 (2 » A e

I S|

% # 27 13 10 3 4 1 1 2 1 - 1 1 - -
@ B FETHE %) | 100.0 48.1 37.0 11.1 148| 3.7]111 41 74| 3.7 -1 37| 3.7 - -
] 20 9 7 3| 1 - -1 1 | -] -
& 7 4 3 1 1 - 1 -1 -1 - - - -
@ Wl | - - - o I R I I A Y I B I
B %R RO % A& R E{ 5 -1 - - - -1 -1 -1 -t -t -1 -1 - - -] -
ﬁ‘ _ _ —_ _ _ _ _ —_ _ _ —_ _ _ _ _
I B R i B0 9% B e ] - - - - ot D e et e e e O O
TR R EEE. . | N T e e e e e e e e e
@ Wl | - - - ! I R ) R A R I B B I
P43 U ﬁs%&wﬁwﬁ{ 5 -1 - - - o e T e Y R I R B I
ﬁ‘ _ _ —_ _ _ _ _ —_ _ _ —_ _ _ _ _
@ Wl | - - - ! I R ) R A R I B B I
wOROB RO P ﬁ&{ 5 -1 - - - -1 -1 -1 -t -t -1 -1 - - -] -
ﬁ‘ _ _ —_ _ _ _ _ —_ _ _ —_ _ _ _
@ Wl | - - - ! I R ) R A R I B B I
W B R O K ﬁ&{ 5 -1 - - - -1 -1 -1 -t -t -1 -1 - - -] -
ﬁ‘ _ _ —_ _ _ _ _ —_ _ _ —_ _ _ _ _
@ w1 - - - = IR I I I I R I T I I
Mok B R O ¥ ,%\{ 5 1 - - - = I Y Y I I B T e
ﬁ‘ _ _ —_ _ _ _ _ —_ _ _ —_ _ _ _ _
{ S # 8 8 6 2 -1 -1 -1 -1 -1 - -| -| -| -| -
B FE M1 R LT 0 e L 6| 6 4 2 -1 - - - -1 - - - - -
% 2 2 2 - -1 -1 -1 -1 -1 - -| - -1 -
SR, RO kR | # A9 4 3 1 3 I Il Il IR (Rl A R Bl I B
i % 6 2 2 - 1 I I I R S N Y B I B
ES 3 2 1 1 1 I e B e I N e e B
1“ # 4 1 1 - 2 - -1 1 - -1 -1 -1 - -] -
?L%L%%%%EEE{&E‘%@{ 5 3 1 1 - o | - - - -| -1 -| -| -| -
ES 1 - - - -1 -1 - tf -1 -1 - -l -1 -1 -
Ptk R BT R [ % w4 - - S I Y B I Y B B e
FLE AT LT IS S % 4 - - - - - 2f - o 1} -1 -| - -| -
72 W b 2 # - - - - -1 -t -1 -t -1 -t - -{ - -| -
@ E - - - o I T I Y R I e I
{%Jﬁ&U“ﬁEtmﬂ{ 5 -1 - - - -1 -1 -1 -t -t -1 -1 - - -] -
£ ] . . . S N I N N ) A

gt T NIR L) RIS



